
Veranda Wheelchair
Footrest packaged with the wheelchair match frame finish. See Section Titled, "Veranda Only" for

T93H/T94H Series Front Rigging replacement Options.
 

At this time, Upholstery replacements for 16" and 20" Chairs are unavailable.
 

The new front caster used on a 16 and 20" Chair was changed as of March 8, 2011 and for the 18" Chair
was changed as of June 21, 2011. "New style caster is available through The Aftermarket Group as

TAGRP265093"



Veranda Wheelchair
Footrest packaged with the wheelchair match frame finish. See Section Titled, "Veranda Only" for

T93H/T94H Series Front Rigging replacement Options.
 

At this time, Upholstery replacements for 16" and 20" Chairs are unavailable.
 

The new front caster used on a 16 and 20" Chair was changed as of March 8, 2011 and for the 18" Chair
was changed as of June 21, 2011. "New style caster is available through The Aftermarket Group as

TAGRP265093"
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1132515 Kit, Hand Grip (Pair) 1 11
1152605 Kit, Back Upholstery w/ Hardware, Removable Arm

(18 x 16")
1 12

1157814 Kit, Back Upholstery w/ Hardware, Fixed Arm (18 x
16")

1 12
1152604 Kit, Seat Upholstery w/ Hardware, Removable Arm

(18 x 16")
1 13

1157813 Kit, Seat Upholstery w/ Hardware, Fixed Arm (18 x
16")

1 13
1153807 Kit, Arm Pad w/Hardware - Desk Length 1 14
1152606 Kit, Arm Pad w/Hardware - Full Length 1 14
1152607 Kit, Dust Cap 1 15
1151514 Kit, Wheel w/ Hardware - Front 1 26 A

1080380-NLA NLA - Wheel Assembly, Composite, Non-Corded
Urethane (24")

1 27 B
1122726 Wheel Assembly, Composite, Corded Urethane

(24")
1 27 C,C1

1063919 Handrim, Composite, 9 PT., Black (24" wheel) 1 28
1065791 Hardware, Handrim Attaching - 9 PT. 1 2D

1055272-NLA NLA - Handrim, Chrome, 6 PT. (24" Wheel) 1 28 G
1183681 Handrim, Aluminum, 6 PT, Clear Anodized (24"

Wheel)
1 28

1042074 Hardware, Handrim Attaching - 6 PT. 1 2D
40117X022 Bearing (1/2" I.D. x 1-3/8" O.D.) 1 29 C,C1
40117X024 Bearing (7/16" I.D. x 1-3/8" O.D.) 1 29 C,C1

1111924 Wheel Lock Assembly, Push to Lock, Black - Right 1 110 E
1111925 Wheel Lock Assembly, Push to Lock, Black - Left 1 110 E
1101452 Wheel Lock Assembly, Push to Lock, Black - Right 1 110 F
1101453 Wheel Lock Assembly, Push to Lock, Black - Left 1 110 F
1017677 Kit, Hardware, Wheel Lock (Pair) 1 1D

Bolt, Carriage (1/4-20 x 1-1/4") 1 2
Nut, Hex Flang (1/4-20) 1 2



Veranda Wheelchair
Footrest packaged with the wheelchair match frame finish. See Section Titled, "Veranda Only" for

T93H/T94H Series Front Rigging replacement Options.
 

At this time, Upholstery replacements for 16" and 20" Chairs are unavailable.
 

The new front caster used on a 16 and 20" Chair was changed as of March 8, 2011 and for the 18" Chair
was changed as of June 21, 2011. "New style caster is available through The Aftermarket Group as

TAGRP265093"
A - The front caster used on 16" and 20" chairs changed March 8, 2011. The front caster used on the 18" chair changed June 

21, 2011. "New style caster is available through The Aftermarket Group as TAGRP265093"  
B - No Longer Available. See part #1122726.  
C - Prior to 3/8/11, the rear wheel used 1/2" bearings. After 3/7/11, there was a running change in bearing size for the 

Veranda rear wheel and new wheelchairs could have used 7/16" bearings or 1/2" bearings.  
C1 - Part #1122726 will include 7/16" bearings. If you are ordering a wheel replacement, please also order part #40117X022 

1/2" bearings (quantity 2 ea. per wheel) so that, if needed, the customer will be able to retrofit the wheel assembly with 1/2" 
bearings.  

D - Not shown.  
E - Use for Permanent Arm models. These Wheel Locks are recommended replacements.  
F - Use for Removable Arm models. These Wheel Locks are recommended replacements.  
G - Chrome Handrim part #1055272 replaced with Clear Anodized Handrim part #1183681.   

NOTE: At this time, there are no replacements for the 16 and 20" Back or Seat Upholstery.  

NOTE:

 


